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                ЗАВИСНОСТ ЗБИРА ОД ПРОМЕНЕ САБИРКА И СТАЛНОСТ ЗБИРА    
          Име и презиме:_____________________________________________   III разред
Ако је  а + б = 700,  израчунај:




Ако је  а + б = 400, израчунај:
(а+138)+б= _________________________ 


(а+62)+б= _______________________
(а-138)+б= _________________________ 


а+(б-35)= _______________________
(а+138)+(б+114)= ________________________ 

(а+144)+(б-35)= __________________
(а -138)+(б-114)= _________________________ 

(а+450)+(б-450)= _________________
(а+156)+(б-156)=_________________________                  (а+156)+(б-420)= _________________
Ако је  а + б = 440,  израчунај:




Ако је  а + б = 500, израчунај:
(а+ 50)+б= _________________________ 


(а+58)+б= _______________________
(а- 50)+б= _________________________ 


а+(б-66)= _______________________
(а+110)+(б+110)= ________________________ 

(а+320)+(б-320)= _________________
(а-200)+(б- 100)= _________________________ 

(а+360)+(б-250)= _________________
(а+269)+(б-269)= _________________________ 

                                           (а+437)+(б-437)= _________________________ 
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